
gFjp – I 

kpfTk; nghUj;jkhd tpiliaj; njupT nra;f. 

1) khj;Ufh gjq;fs; ,lk; ngWk; cUg;gb tif 

    1) [jP];tuk;    2) fPjk;         3) fPu;j;jid      4) ];tu[jp 

2) [k;ig jhsj;jpw;Fupa mq;fq;fs; 

    1) l00         2) l00          3) l0ll           4) lU0 

3)  [jpf; Nfhu;itfshy; mike;j cUg;gb 

    1) [jP];tuk;    2) myq;fhuk;     3) fPu;j;jid      4) ];tu[jp 

4) “rhkpehj…” vd;w fPjk; mike;j ,uhfk; 

    1) gpy`up      2) Nkhfdk;      3) Rj;jrhNtup     4) `upfhk;Ngh[p 

5) kq;fs thj;jpak; 

    1) ehj];tuk;   2) taypd;       3) gQ;rKf thj;jpak; 4) fpd;duk; 

6) “Njt Njt…” vd;w kj;jpkfhyf; fPu;j;jidia ,aw;wpatu; 

    1) jhz;ltu;    2) Gue;jujh]u;     3) ghgehrk; rptd;  4) ];thjpj;jpUehs; 
kfhuh[h 

7) Gue;jujh]upd; Kj;jpiu 

    1) =dpthrd;     2) Gue;jutpl;ly    3) ftpuh[u;      4) ghujpahu; 

8) [dfuhfq;fspd; vz;zpf;if 

    1) 72           2) 12            3) 7            4) 16 

9) “jhapDk; ey;y….” vd;w Njthuj;jpd; gz; 

     1) gok;gQ;Ruk;    2) GwePu;ik     3) Ky;iy      4) el;lghil 

10) itjPf fhdj;ijr; Nru;e;j cUg;gb 

     1) [jP];tuk;    2) fPjk;     3) fPu;j;jid      4) ];tu[jp 

11) “rhe;Jg; nghl;L jsjnsd..” vd;w ghly; tif 

     1) Fk;kp    2) Nfhyhllk;;      3) fhtbr;rpe;J      4) eyq;F 

khfhzf; fy;tpj; jpizf;fsk;  

tlf;Fkhfhzk; 
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12) ntz;gh ghlg;gLk; ,uhfk; 

     1) gpy`up  2) rq;fuhguzk;     3) Nkhfdk;        4) khahkhstnfsis 

13) khahkhstnfsis ,uhfj;jpd; Nks vz; 

     1) 65      2) 29             3) 15             4) 8 

14) gpd;tUtdtw;Ws; euk;Gf; fUtpahf miktJ 

     1) jNgyh   2) taypd;         3) flk;           4) jhsk; 

15) ml jhsj;jpd; Kjy; yFit ePf;fpdhy; tUk; jhsk; 

     1) JUtk;  2) [k;ig          3) &gfk;          4) jpupGil 

16) Gue;jujh]upd; tho;f;iff; fhyk; 

     1) 1484-1564  2) 1584-1660        3) 1430-1530        4) 1580-1630 

17) [df ,uhfj;jpd; kWngau; my;yhjJ 

     1) Nks ,uhfk;  2) fu;jh ,uhfk;    3) jha; ,uhfk;    4) gpwe;j ,uhfk; 

18) flg[hjp rq;iQf;fhf rq;fuhguzj;jpw;F toq;fg;gl;l ngau; 

     1) jPurq;fuhguzk;  2) ̀ upfhk;Ngh[p  3) Nkrfy;ahzp    4) khahkhstnfsis 

19) xU myq;fhuj;ij ,uz;lhq;fhyj;jpy; ghLk; NghJ vLj;Jf;nfhs;Sk; 
Mtu;j;jdq;fs; 

 1) 10          2) 6             3) 5              4) 3 

20) gy tu;zf;Nfhy;fshy; jl;b Mlg;gLk; Ml;lk; 

 1) Fk;kp       2) Nfhyhl;lk;       3) CQ;ry;       4) nfhk;GKwp 

                                           

(20ù2=40Gs;spfs;) 

 

 

 

 

 

 

 

 

 



 

gFjp – II 

tpUk;gpa ehd;F tpdhf;fSf;F kl;Lk; tpil jUf. 

01)   1) ehl;baf; fr;Nrupfspy; ,uz;lhtjhf ,lk;ngWk; cUg;gb vJ? 

     2) mt;TUg;gbapd; mikg;gpid tpsf;Ff. 

     3) mt;TUg;gbapid ,aw;wpatu;fs; ,Utupd; ngau;fisj;  jUf. 

     4) Nkw;Fwpg;gpl;l cUg;gbf;F ,uz;L cjhuzq;fs; jUf. 

                                                 (2+9+2+2=15 Gs;spfs;) 

02)   1) ]upf/ ]up/ fk// vd;Dk; myq;fhuk; mike;Js;s jhsk; vJ? 

     2) ,jd; ,uhfk;> ,aw;wpatu; vd;gtw;iw Fwpg;gpLf. 

     3) ,jd; mq;f milahsj;ijAk; nkhj;j ml;ruj;ijAk; jUf.? 

     4) ,t; myq;fhuj;jpid xOq;;F Kiwapy; G+u;j;jp nra;f. 

                                                (2+2+2+9=15 Gs;spfs;) 

03)   1) rq;fuhguz ,uhfj;jpd; Nks vz; ahJ? 

    2) ,jd; MNuhfz mtNuhfzj;ijAk;> ];tu];jhdq;fisAk; jUf. 

    3) ,t; ,uhfj;ij tlNjr> Nkiyj;Nja ,irfspy; vt;thW miog;gu;? 

    4) ,t; ,uhfj;jpd; gz;> ,uz;L cUg;gbfisf; Fwpg;gpLf. 

                                                (2+4+4+5= 15 Gs;spfs;) 

04)   1) Muk;g tupirfis ,aw;wpa thf;Nfafhuu; ahu;? 

    2) ,tuJ tho;f;iff; fhyk;> ngw;Nwhu; ngau; vd;gtw;iwj; jUf. 

    3) ,tu; ,irf;fhw;wpa gzpfs; vit? 

    4) ,tuJ Kj;jpiu> rpwg;Gg; ngau;fs; 2 jUf. 

                                               (2+4+5+4= 15 Gs;spfs;) 

05)   1) $l;lKjg; ghly; vdg;gLtJ vg;ghly; tif? 

     2) Nfhy;fs; nfhz;L Mlg;gLk; Mly; tif vJ? 

     3) Fk;kpg; ghly; mope;J Nghfhky; Gj;Japu; mspj;jtu; ahu;? 

     4) Nkw;Fwpg;gpl;l 2 fpuhkpa tpisahl;Lg; ghly;fspy; xd;Wf;F rpWFwpg;G vOJf. 

                                                (2+2+2+9= 15 Gs;spfs;) 


